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BCA—201
B.C.A. (Second Year) Examinatibn, 2019

COMPUTER COMMUNICATION
. AND NETWORKING

*() ; R APaper—I

Time Allowed : Three Hours -
Maximum Marks : 100

PART-A  [Marks : 20

_Ansx-;ver all questions (50 words each).

All questions carry equal marks.

-
—

PA'RT—B- . Marks :;50

Answer five questlons (250 words each) selectlng one

' f-‘. 'J.questi'on from each Unit. All questlons carry equa_l marks

[
.
= S — .' I

PART-C =~ [Marks . 30
Answer any two qulestions (300 -VW‘ords each).

All questions carry equal marks.
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S . PART-A
1. Ans_wef the following questions :

‘(i/)Iaist some Wireless Networks available for Data

Commnnication today.
(

(ih) What is dec1bels and Signal strength '7

(111 at is CRC error checksum method ? Explam
1th an example ) < .

1v) What is Encodmg ? Explam Manchester and

d1fferent1a1 Manchester with an example bit
stream as 01001100011 |

(v) What is Circuit SWitching mode of
Commumcatlon‘? w5, -

(v1) What 1s Space D1v1s1on ~switching ?

(vii) What i is the s1gmﬂcance/mean1ng of “802” in IEEE
| 820 standards ?

_ (v1n) What is ATM ? Explam few beneﬁts of ATM
3 - ' Technology A=

(ix) Find the class of the 'foliowing P addxesseS.\

(@) 11110111 11110011 10000111 11011101

(b/) 10101111 11000000 11110000 00011101

(c) 11011111 10110000 00011111 01011101

, ' (d)__ 11101111 11110111 11000111 00011101
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(x) An address' space uses the three symbols 0, 1
and 2 to renresent addresses. If each address is
made of 10 symbols (bits or places), how many

addresses are available in this system ?
PART-B-
oo UNIT-I

)’ 2,./"'Differeritiate between Connectiong Oriented and
/ Connectionless Services.

3. What is Bandwidth ? Give‘ the Shannon capacity

formula with its explanation.

UNIT-—II~

/Explaln the sliding Window protocol used for Data

Commumcatlon with an example.

19 leferentlate between Asynchronous and Synchronous
/mode of Transm1ss1on :
4 by . 3 -‘ ‘ ‘//
UNI'T-‘III |

6. What are the four generic components in Public

Telecommumcatlons Network 2

\ﬁvhat is Packet vatchmg ? What are its advantages |

as compared to circuit SW1tch1ng ?
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UNIT-IV

8. What are the difference between 1.2 and L3

switches 7
/Y-(bl—\ ﬂ\r) kp-k\ M C}uf\’

9. What is FDDI ? Explain few benefits of FI.)DIV |
~ technology. ' A
I UNIT-V s
10. What is HTTP protocol ? Explain its working in
detail. | N s
11. What is IPv6 ? List its advahtages.'Why we need to
replace existing IPv4 with IPv6 ? . '

PART-C

1 ],,2./Whét are the various Design issues for the layers in
~ Networking ? S

RS S .

13. List various Data encoding schemes. E’xplainx_any

two of them giving suitable example.
14. Explain Time Division Multiplexing. - RS
'15. Explain the wbrking of CSMA/CD.

. 16. Draw and egxplaip all fields of IPv4d Header.
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